HC940G/960G wAGNER

R TED

[C30007A

Ak - i - MR T ERKERT2ENHYET, 2024.05



A
HC940G/960G WAGNER

POS b7 B o JEAT ik
1 451-093 |H1/3— 2 3,100
2 451-094 | +FfFH v RY 2 270/4.8x43
3 349406 (ZFVL TV 2@ 900
4 349407 | 1 2,800
5 349612 |[R—AT7 (v T4 4,700
6 | 138-153A |/ v toh 2@ 12,600
7 142-004 |H$ERTY 1 920
8 | 143-127A |[E"R}v 1 27,300/HC-940
144-117 Ak 1 27,300/HC-960
9 138-001 (AU HAR 1 4,200
10 | 142-003 [AFV 1 770
11 | 451-085 |m:-HFpH AR 1@ 670
12 | 0509710 [|rEHFAR—L 1@ 180 ¢ 11
13 | 236-012 [rhHF S —F 1 3,100
14 | 236-032 [2—/L %% 1@ 380
15 | 236-031A | T 1 3,700
16 | 145-031 [OVvZ - 2@ 930
17 | 0349606 |2V % — 1 120,000{HC-940
144-832 |2 Y& — 1 120,000{HC-960
18 | 140-009 (O V7 H 1@ 290
19 | 236-030 [HIEUvT v— 1 1,300
20 | 236-141 |[WAFHAR 1 5,900
21 | 0509707 |FfpAR—v 1@ 7,700| ¢ 25.4
22 | 0509623 | AT —h 1 5,700
23 | 0509708 [0V - A 1@ 410
24 | 0528011 | AFp T 1 29,700
25 349300 |F AL IR I g 27,200/HC-D
26 | 2141130 |V4 vk 25,100|HC-H
27 | 2103390 |=/LARRL1/2 A 3,200/HC-H
28 | 2520015 |HLmy” 8,900|HC-H
0528101 |F# » XyF o Ph—E &Yk o 23,900[HC-940 * 960 Pos.3 + 6 + 11 -
12-14-16-18+21 23

LC30007B

2
AR « i - MRS T ERKEET2HR/HVET, 2024.05



HC940G/960G WAENER

4 )L3—1zvk (HC940G/960G)

[IC30008A

3
AR « i - MRS T ERKEET2HR/HVET, 2024.05



HC940G/960G 4
WAGNER
POS | & fn 4 gy TEAT 155
1 | 930-937A | T 78— 1 28,200
2 930-020 |[FLvyiy—ATVT 1 740
3 930-004 |74V H—F—K)w 1 12,300
4 920-006 |/ 1 2,600[(50 X 45 X 5
5 920-070 |/SwF 1 1,300]50 X 45 X 2
6 891-193 |0 U7 1 680|H
7 180-909 |37 —h 1 5,500
8 2405544 £ )G - SA 1 28,200{0-35MPa
9 2141136 [N 1 40,200/R1/2 X 2
10 227-033 |77 2 420|NPT3/8
11 2104204 |R—AT7 4T 4T 1 1,800(G1/2M X R1/2M
12 | 810-555 |T=/L7R 1 1,100
13 | 944-030A |V & —>2 317 vk 1 28,200
14 | 2240203 [VZ—2TaA 1 7,700|R1/4 X M20
15 | 2230343 |UH—AR—AEvh 1 10,300[ ¢ 12 X 800 FHH L Z2
2520633 VX —2R—A vk 1 12,600 ¢ 12 X 1500
16 | 703-137A |[2=F>TaAh 1 14,100
LC30008A

Ak - i - MR T ERKERT2ENHYET,

4

2024.05



HC940G/960G

A
WAGNER

JR—2 /N )L Tty (1/4)(HC940G/960G)

IC30009A
POS S fnh Y TEAM 5
1 944-047 |75 ARV 1 410
2 944-029 |‘FEUv T y— 1 250
3 0295731  |[A~S—H— 1 1,600
4 0295730 |/~ Rv 1 1,800
5 9820905 |ML. 3% 3 290
6 9822516 |AF > VUL 1 270
7 0294501 |ARw/3— 1 490
8 944-011 |7V 7 AT L 0555622 1 5,100
9 9871045 |0 V2 1 290
10 | 0555767 [T 7o 1 9,100
11 9841502 |FpR— L 1 3,600 10
12 | 0294516 |23/ 7 —h 1 5,000
13 | 0294499 [ —/L w3k 1 480
14 | 0555660 |/S)LTNTT 1 2,800
LC30009A
5
AR « 50 - MSIE T ERSKERET2F/HETS, 2024.05



A

WAGNER

HC940G/960G

(HC940G/960G)

T—4

£

/

IC30003A

2024.05

i A T ERKEE T DHERDHVET,

1Ak -



HC940G/960G A
WAGNER
POS RS i B JEAM ik
1 0349384 |77/ 1 280
2 441-217 [O V7 O1 350[23.5 X 2.5
3 | 0349386 |2vrF vk O1 530
4 1192-000A | /LR T 4T (07 1 11,500
5 | 0349381 |[R—/L O 2 4,100
6 | 0349380 (27U O 2 680
7 141-007 [O V> 02 270[12.7 X 2.62
8 | 0349378 [HAKRT v = 2 14,100
9 | 0349387 |=/WART 4T AT 1 4,200
10 | 0349388 |2V A —~oK 1 47,400
11 | 431-032 |OVU2 02 260(53.64x2.62
12 | 441-908A [E#/ /L7 Assy 1 56,100
13 | 441-152 |0 U2 O (3) 270[39 X 2.5
14 | 0349390 [A~L—H— 1 2,700
15 | 0349391 [AF> 7V 1 680
16 | 235-022 [HARF vk 1 4,900
17 | 0349394 ARV 1 12,200
18 | 235-027 AR 23%w%> HC O1 5,500[38 X 48 X 4.8
19 | 235-026 |O U2 O1 35033 X 2.5
20 | 0349397 |/NLT AT 1 28,200|{HC-940
0349627 |3V 2T L 1 40,100|HC-960
21 | 0349398 |E°AhrmyR 1 54,900{HC-940
236-948 |[E"ARmvR 1 56,100{HC-960
22 | 0349399 |V 7 F vk 1 10,900
23 | 0349626 |~V & — 1 81,200|HC-940
0349400 [2Vo & — 1 88,500|HC-960
24 | 235-028 AR YR RwF O1 2,600(33 X 44 X 4.8
25 | 0349402 |»NTPLT 1 82,600|HC-940
0349628 |\ 1 78,300{HC-960
26 | 0349362 | ATV T T p— 2 290
27 | 862-428 |/NAARILE 2 380[M10 X 75
28 | 235-029 |47 1 2,900|HC-940
236-029 |/3A 1 9,400{HC-960
29 |431-019A [ —/LF vk (1) 4,100
30 | 0349404 |7 A4—T 4T 4T 1 18,000
0349703 [JHJERL 7P —E A vk O 26,800/|Pos. 2,3,5,6,7,11,13,18,19,24

Ak - i - MR T ERKERT2ENHYET,

7

LC30003A

2024.05



HC940G/960G

A
WAGNER

SHERD

-

3

Ak - i - MR T ERKERT2ENHYET,

1C30004C

2024.05



HC940G/960G

A
WAGNER

POS e B4 LG TEAM ik
1 451-422  |@EAR—A 1 26,800[NPS1/4F X NPT3/8M X 600
2 0349487 | /VART 4T 4L 1 5,900|NPS1/4
3 0349339 |R—AVaAf b 1 6,500
4 0349337 |Fa—7 1 6,900
5 0349338 |[7Uv 1 570
6 0349340 | ARTDOFTaAf b 1 8,300

7-1 0349341 |JEJIi%E 7 1 3,300

7-2 862-414 |/SA AT IED AL 1 180
8 0349455 |/ EAR T 1 690,000
9 0349456 |1 — 1 2,000
10 0349345 |/ RAFIED AL (1) 270
11 0349344 |7/ —U— 1 19,400
12 325-031 |0 Vv 1 380
13 0349302 [/SARILVE 8 350|1/4UNC-20 X 25
14 9921502 [AZVL T T v— 10 190|M6
15 0528160 |AA/NH U 57z 1 51,800
16 227-033 |77/ 2 420|NPT3/8
17 0349347 |Uviy— 2 170
18 0349349  |/NFARILE 2 140
19 449-605 | H A b 1 2,500
20 0349374 |F vk 1 240
21 0349351 |mo V=71 1 2,600
22 0349352 | ARU—hT /LR 1 2,600
23 0349353 |74/ 2— 1 13,300/100 A>3 =
24 0349458  |[EVIEDFF AT b 2 1,200|M10
25 9920106 |"FUv T y— 7 210/M10
26 9921507 |AT VLT T Y — 4 210/M10
27 0254426 1 M10
28 862-428 | /SRR 3 380[M10 X 75
29 449-212  |HEHFE 1 820
30 0349302  |7/SFARILE 1 350[1/4UNC-20 X 25
31 0349485 |AANH D 1 91,400
32 0349371 | A~—H— 1 1,700
33 0349370 |1k 1 3,300
34 0349369 |#&F b 1 680|M10
35 0349368 | D EAATAR/LE 1 820[M10 X 25
36 451-423 |V A —17R—A 1 29,700
37 0349465 |T/ART 4T (T 1 5,900|NPS1/4M X NPT1/4M
38 0349463 |V vk 1 7,000
39 0349361 |7 — Ak 1- 1 1,900
40 0349373 |3 AXZN LT 1 6,900
41 451-122 | A AT 4V H— 1 10,900/10 1
42 0349467 |FANTEAASAT 1 13,700/10 1
43 0349614 |A AN — 1 18,000
44 0349521 |AR—/L L7 1 22,300
45 490-043 |7H T H— 1 2,000

Ak - fnd - MR

9
TEHRKERETHHBDHVET,

L.C30004C
2024.05



A

WAGNER

HC940G/960G

Ho
A
N
N

IC30005A

10

2024.05

i A T ERKEE T DHERDHVET,

1Ak -



HC940G/960G WAENER

POS | L& Ea = TEAM ik
1 1 4.1KW HC-940
1 6.6KW HC-960
2 349537 |[R—AFL—h 1 17,500
3 | 9900241 [ANEARLK 4 450|M8 X 40 HC-940
9900137 |[/SFAARILE 4 M10 X 40HC-55-960
419920102 [T — 8 180|M8
9920106 [T v — 8 210[M10
5 | 9921501 (RAF VT T p— 4 190(M8
9921507 (AT VT T Y — 4 210[M10
6 | 9910107 |[/<fF b 4 210|M8
9910105 [/~FAF b 4 170[M10
7 | 0349591 |F—V— 1 16,500[ ¢ 19.05
349423 |7 —V— 1 31,500 ¢ 25.4
8 (1) 5/16-18UNC X 10
9 | 9931043 |[ZF1— 1 5,100[4.78 X 4.78 X 30 HC-45-940
349422 |Fo— 1 760(6.3 X 6.3 X 41 HC-55-960
10 | 0528109 |V ~/Lk 1 7,800|A38
0349426 |V ~Lk 1 8,400{A44 HC-55-960

LC300058B

11
AR « i - MRS T ERKEET2HR/HVET, 2024.05



A
HC940G/960G WAGNER

MOt —ER

IC30010A

12
AR « i - MRS T ERKEET2HR/HVET, 2024.05



HC940G/960G A
WAGNER
POS RS rnh B EA ik
1 0528002 |Ro 7 Hp/3— 1
2 0509219 | +FsUtdm Tl 2 190
3 9921504 [AFVL Uy p— 4 190|M4
4 0528090 | T T/N—=T T ) 1
5 9920104 [ETvp— 2 190(M5
6 0528092 [/SARI/LE 2
7 0528093  |DDH I IEOAFF R 1
8 0507561 [T % — 1 180
9 0555449 |77 L 1 2,700
10 0528005 |[~LRA/N— 1 HC-940
0528021 |[~LRA/N— 1 HC-960
11 0349524 | ~LRHAR—=T T )L 1 6,500{HC-55-940
0349541 |[~JLRH =TT )L 1 14,900[HC-55-960
12 590-100 |[Ahy Vs 6 170
13 0295687 [T vy— 4 680
14 0528087 |7 —A[aldixHh 1
15 759-034 |AFVL T 1 190
16 0528085 |T RFpo 2
17 0349324 [\ KL 1 5,900
18 451-113  |[ARy 7BV 1 4,100
19 451-112 [AFV 7 1 1,300
20 862-428 [/NARI/LE 2 380[M10 X 75
21 0349362 (AN Uy p— 2 290
22 0528086 |7 —2A 1
23 0349302 [/SFAR/LE 2 350{1/4UNC-20 X 25
24 0528089 |[hral— L 1
25 9841504 [AF >~ 2 480
26 0295609 [T v— 2 280
27 0295610 |7 2 280
28 0295607 |[HART v = 2 3,300
29 0295606 |NET v v— 4 160
30 0295608 |#i/ il 4 190
31 0528083 |[rmU—7L —A 1 97,200
32 670-109 |#A¥ 2 13,300

13

Ak - i - MR T ERKERT2ENHYET,

LC30010A

2024.05



